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Math 16B
Kouba
Handout 9

1.) Determine the volume of the solid formed by revolving the region bounded by the
graphs of the given equations about the z-axis.

a.) y=cos((1/2)z), y=0, =0, z=7n
b)y=3+sinz, y=1,z=0,z=n
¢.) y=+v2cosz, y = tanz, r=0, z=n/4

2.) Determine the voh‘fme of the solid formed by revolving the region bounded by the
graphs of the given equations about the y-axis. .

a)y=z+1,y=0 =0
b)y=2% y=2% 2=0,2=1

3.) Determine the volume of the solid formed by revolving the region bounded by the
graphs of y =¢”, y=1,and £ =In2 about the given axis. SET UP ONLY.

a.) x-axis
b.) y-axis

4.) Determine the volume of the solid formed by revolving the region bounded by the
graphs of y =4 -2z, y=0, and £ =0 about the given axis. SET UP ONLY.

a.) z-axis

b.) y-axis

c.) linez =3
d.) line y = -2

5.) Determine the volume of the solid formed by revolving the region bounded by the
graphs of y =2 and y=4v2z about the given axis. SET UP ONLY.

a.) r-axis

b.) y-axis

c.) linez = ~1
d.) liney =8
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